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Choose the best word or phrase from among the four choices.

(1) Ithink we need to take a positive approach to ( ) energy.

1 numerous 2 neurotic 3 nucleus 4 nuclear
(2) Igot( ) from drinking some bad water.

1 disaster 2 dysentery 3 digestion 4 destruction
(3) The conversation afterwards was ( ) informal.

1 delightfully 2 delighted 3 delightedly 4 delight

(4) The new ( ) has made it possible for working people to buy
fancy cars.
1 prosperous 2 prosperity 3 provision 4 product

(5) Let us leave to history the final judgment of our ( ).
1 pride 2 deeds 3 duration 4 process

(6) The houses there looked as though they might have been somewhere
in the ( ).
1 Middle Western 2 Westmid 3 Westernmid 4 Midwest

(7) During the rainy season, the sky is usually ( ).

1 overcast 2 overcasted 3 overcasting 4 overcastingly
(8) Typhoons often cause ( ) to buildings and crops.

1 damages 2 damage 3 damaging 4 damagings
(9) It was women who first learned to ( ) animals.

1 domesticate 2 domestic 3 debilitate 4 dedicate

(10) The Japanese archipelago can be regarded as a ship ( ) off the
huge Eurasian heartland.
1 anchor 2 anchored 3 anchoring 4 anchorage
(11) Luckily the Mongol invasion of Japan was ( ) by a typhoon.
1 abort 2 aborted 3 avoided 4 avoiding
(12) For many Asians, Japan has been an ( ) of a highly developed
society.
1 exemplar 2 modeling 3 exceptional 4 excelsior

(13) I have ( ) emotions about the boss.
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1 contrasted 2 conflicting 3 contented 4 contentions




